W | RRKE EEEeEE %ﬁgfé;ﬁ FAME | WEEE | EhsE
SRR
B 4 T E B - EEAE (B S
E F & Fr & ET8HE A F T N
&= F 4 . e . e | ot ke
TSR - fE5 0 (BE KB B R TasR 3 EB LT
(& 3 % =)

BT N=145
B Tfia%ET L=0.26km

&

B oW %P




T H0-0001
E¥ T 00m B #
REtER ¥ERRAHREE L4 00000000000
EERHK 0
B¥%
EREMmE D 1 EEEE
108 A {1t R A (BE1) #E
Eil&ERE 00-05. 03. 01 (0)
RRERZR 4 £%FHR
7743 000000000004 #IR4$E A K15 F fm ek st
L # K UM =AY
IS 35
AEFAERIRS 00 BHFavHiLsvhk
X EREHE 00 XEEELL
RETRIRD 00 BkavHiavhk
REXEER S 01 &L (X6:EkEtX8: A
TEEHE
& EH{E | £
A KEBER? 0 KBELL
1 KEEHY
B WHUHIBZz®RZRS 0 WHBHIBZ@®ALL
1 MBI EE®RIHY
C HHHEE[M]
00000000000 5 B 7]




’.L}
bl k{3

WK

H0-0002

HERALE

EE S

EHEZ:

IXE

RBERAT

AIEE

MEIEE

HERUVHRE

Rt R UHIES

WRHEER

EHRE

IEHE

HaIEE

23

IE =]

IE =]

IE =]

00000000000



A 2 kR U A B & N R =X 50-0003
BE - TH - BIARGY % B |Be B F | & & # z
R X600
DHERR Y1846111100
EREE (EEERERCESEE 0 |
; (12, 33, 789)
12,413 414
B Y2546111100
e e T ( 383,055)
391634
e Y3546111100
e . ( 383,055)
391634
B EEH Y4S46111200
T e T ( 383,055)
391634
EBFEEH (A) serto.
‘ 0 1,476,750 )[( 383,955
0.6 | kn 1506, 285 391634 | T %0 -00012%
EREH Y2546131100
T e T ( 11,300,034)
11,370, 980
AR Y3546131100
e .. ( 11,300,034)
11,370, 980
AR Y4S46131100
T e T ( 11,300,034)
11370, 980
B2 EEH SCA5A
BeER 30.6$m Ly 00
| (710,925,684 7 (( 10, 925, 684)
1.0 B | 10 096630 10,996 630 |f5T %0 -00022%
BRI £ OBRBER (2P BB w2
| I R | 152,950 )1 152,950)
1.0 | 2% 152 950 152,950 | 6T %0 -00032%
WWAE (ERFHBH) sutst
‘ I R | 221,400 )[( 221,400)
1.0 | 2% 221/ 400 221400 T %0 -0MEX
00000000000 & & W




N = N = -
A2 kR 0 A B &8 N R X RO-0004
BE - I8 BI&HAL w8  B@ | & R & i z
nat | Y2546181100
e (650,800
| 650, 800
ay Y3546181100
e (650,800
| 650, 800
At Y4846181100
T (650,800
650, 800
TAY (RREE) (BHER) 8050
TACEROE (FEEHBEERCO | 00
BESHA (FBEZENEENTEA) T 650,800 ) [( 650, 800)
| 1.0 2y 650, 800 650,800 |#ET %0 00062 %
EGER 20011
| % 77,709
| 77709=12334789%0. 0063 F1k-8)
wgEEe-- 123789 [
1&& ............
| 71,709
EFHRMERER (D) 20014
9 478,000
EFHEMERR YZ546001410
418,000
ETAENERE (B, P AR 56900
ERAREAN (PMEMBEERCO 0 | 00
| 1.0 = 418,000 478,000 |$ET %0 -00062%
EEEET |
555, 709
ERIE
******************************* ( 12,334,789)
12,969, 123
FORERE | 6642283=12334789+0. 350/ (1-0. 350)=12334789+0, 5385
Pt NR 2.3, 789
| % 6, 642,283
00000000000 1@ ) i




A 2 B O & B & W R % 50-0005
BE - TH - EI&HLE ¥ 8 |#8 &¥ @ & & B %
R
19,611,406
- puERs 10560742=19611406+0. 350/ (1-0. 350) =19611406+0. 5385
stggge 19.611,4060 | U
# 10,560, 742
R
30,172,148
RN | (FH0)
30, 172,000
LR |
30, 172,000
HEH S 3017200=3017200040. 10
G mgE-30,112,00
1&& ............
| # 3,017,200
e
33,189,200
00000000000 ® & W




= = N
B I W R & R0t
% KL 2 B @& ¥ i & ] fis E4

A Y E}'LE O =

JEE%%%EXE (A) BT %0 000125

56110 1 km

TEEME (R ( 74,900 ) |( 112, 350) R5410
[60%(3/1LLE5 5%)] 1.50 A 714,900 112, 350

E2E - HiE (W) ( 70,900 ) |( 70, 900) |R5420
[50%(3/1LL5 5%)] 1.00 A 10, 900 70, 900

TEERE (R ( 62,200 )|( 248, 800) |R5430
[55%] 4.00 A 62, 200 2438, 800

BEF (A) (D) ( 55,200 )|( 248, 400) |R5440
[60%(3/1LUE5 5%)] 4.50 A 55, 200 248, 400

BEF (B) (RE) ( 45,300 )|( 294, 450) |R5450
[60%(3/1LUE5 5%)] 6.50 A 45, 300 294, 450

BEF (C) (RD) ( 35,600 )|( 231, 400) |R5460
[60%(3/1LLE5 5%)] 6.50 A 35, 600 231, 400

Hffig (R*) ( 31,600 )¢ 158, 000) |R5470
[60%(3/1LLE5 5%)] 5.00 A 31,600 158, 000

THEBE  (E - BBEE) ( 62,200 )|( 62, 200) |R5432
[55%] 1.00 A 62, 200 62, 200

HEp (A)  (OME - BHEE) ( 55,200 )|( 21, 600) |R5442
[60%(3/1LLE5 5%)] 0.50 A 55, 200 27,600

HE (B)  (SME - BHEE) ( 45,300 )|( 22, 650) |R5452
[60%(3/1LLE5 5%)] 0.50 A 45, 300 22,650

SHOBE (1,476,750 )|( 1,476, 750) |+00

1,476, 750 1,476, 750 |1476750x1
EFHERERY #01
2.00 % 1,476, 750 29,535
00000000000 ) =) m




W I RN R X 50-0007

20K - B8 4Lk # B B B {i £ B | B Z
( 1,476, 750)
Kok ok BETSEY k %k 1 km 1,506, 285

ERPHEEH (A)
@R (—5~9 5NEHE)
RHEFSIELRERE 3-2-5

TR
ingn

FHIE{E=1. 0+(0. 000/100)=1. 000

00000000000 & 5 L




= = N
B I W R & R-009
% B EK £ & # £ B @& ¥ i & ] fis E4
5 ST ENE 20 -00022
Iﬂ%%ﬁ%nln WI 0 -00028%
SC45A 1 B
ERER 370.6m
TEEME (R 74,900 ) |( 149, 800) R5410
[60%(3/1LLE5 5%)] 2.00 A 714,900 149, 800
BE - BEE (R 70,900 ) |( 248, 150) R5420
[50%(3/1LL5 5%)] 3.50 A 10, 900 248,150
TEERE (R 62,200 )|( 528, 700) |R5430
[55%] 8.50 A 62, 200 528, 700
BEF (A) (D) 55,200 )|( 883, 200) |R5440
[60%(3/1LUE5 5%)] 16.00 A 55, 200 883, 200
BEF (B) (RE) 45,300 )|( 838, 050) |R5450
[60%(3/1LUE5 5%)] 18.50 A 45, 300 838, 050
BEF (C) (RD) 35,600 )|( 551, 800) |R5460
[60%(3/1LLE5 5%)] 15.50 A 35, 600 551, 800
Hffig (R*) 31,600 )¢ 347, 600) R5470
[60%(3/1LLE5 5%)] 11.00 A 31,600 347,600
SHOBE 3,547,300 )|( 10,925, 684) |+00
3,547,300 10,925, 684 |3547300%3. 08
(BFHEREREXRE)
1.00 3,547,300 3,547,300
EFHERERY 1#02
2.00 % 3,547,300 70, 946
(10,925, 684)
ok ok BT ok ok 1 B 10, 996, 630
4=370.6 BRER (m)
B=2 mERE
0=1 R EBHIZEREERE 3-2-59
00000000000 ) m




ENIE

H0-0009

2% - B nl

hel

i

BRAE=0.082x370. 600+267. 325=297. 700
FHIERE=2.977+0.100=3. 080

k %k k k %k %k k k k k k k k ¥k ¥k ¥k ¥k )k )k )k k

* %k k 3k k k k k X

k k k k % *k )k k k k

* %k k k k k k k k

k ok ok ok ok ok k k k k Xk

BERE & OfEE M

56452

F&(ﬁ%

T fwaxaT)

BT %0 -00038 %

e (B) (M%)

(

—

R5450

[60%(3/1LLE5 5%)] 1.50

HEF (C) (g ( ( R5460
[60%(3/1LUE5 5%)] 1.50

B8 (RE) ( ( R5470
[60%(3/1LUE5 5%)] 1.00

ok ok BEY ok k %

(

—
feaksal

A=1 RAEBERERARE 3-2-60

00000000000




= = -
B I N R % R0
% B EK £ & # £ B o ¥ i ] fis E4
K 5 ST = &0
ﬁiﬂﬂaﬁ ( ﬁﬁt%ﬁ%nx#) BT 30000455
56454 1 £%
THEHRE  (E - BBRE) ( 62,200 )|( 93, 300) |R5432
[55%] 1.50 A 62, 200 93, 300
HEp (A)  (OME - BHEE) ( 55,200 ) |( 82, 800) |R5442
[60%(3/1LLE5 5%)] 1.50 A 55, 200 82, 800
HEF (B)  (SME - BHEE) ( 45,300 ) |( 45, 300) |R5452
[60%(3/1LLE5 5%)] 1.00 A 45, 300 45, 300
( 221, 400)
Kok ok BETSEY k% k 1 % 221,400

RARBERERERE 3-

2—60

00000000000




= = N
B I W R % R0
% KL # £ B @& ¥ i & ] fis E4
A = SRElwey 0 00052
et (BRNEE) (REATEH) BT 50 -0068%
56050 1 %
116 ¢ #8E (PR HEE Z MR <)
EESH A (RBEZBENMEENLES)
LERE (TEHE) EEALE ( 62,200 )|( 248, 800) |R5430
[55%] 4.00 = 62, 200 2438, 800
HERE BEA) ( 55,200 ) |( 220, 800) |R5440
[60%(3/1LLE5 5%)] 4.00 = 55, 200 220, 800
HEBE (BEB) ( 45,300 ) |( 181, 200) |R5450
[60%(3/1LLE5 5%)] 4.00 = 45, 300 181, 200
( 650, 800)
Kok ok BETSEY k% k 1 = 650, 800

TR
ngn

RARBERERERE 3-

BESHA EBERAENMRENGESR)
TEEEM (2L, DRBHEEZR O

2—1

TEEHE (LAN+PMITEHE xhRITAH
F {EHAF=0.500 + 0.500%6 + 0.500=4
$AERA  =0.500 + 0.500%6 + 0.500=4
$AFB  =0.500 + 0.500%6 + 0.500=4

1000
1000
|000

3%+ ERATRIHEE. WA

k %k k k %k *k 3k k k k k k k k ¥k ¥k ¥k )k )k k *k

* %k k k k k k k X

* k k Xk X

k k %k k % ¥ )k )k k %

* %k Xk k k k k k k

k ok ok ok ok ok k k k k X

STRRMERE (MBS, PR ITMERE) 6T 50 -0sRR
S'IEC?%OOM*FEJUJ (PHBHEEZER Q) ! g
EFRRAERE
1.00 =S 478,000 478, 000
Kok ok BETSEY k% k 1 = 478,000

A=12334789
B=1

RARBERERARE 3-

B, PREXLFARAOERAME (M)

n—4

(1) BIBE, P iR ERAT RIXEHA A =6.9%12,
=478.4

LR : 700,000 TER : 20, 000

EFRERERE (1) =478, 00(
ETRERERE (1) =478, 00(

334.0%x0.45 (0. 45%%)

00000000000




